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Nr. Anzahl [’ x [m] Ldnge [m] | Gewicht [kg] |Gesamtidnge [m]|Gesamtgewicht [kg] Biegeform

}3
11 " 10 2.640 6.945 4.285 76.397 47137 ¥

D
Summe Gesamtgewicht: 47137 kg
Nr. Anzchl [ x [m] Ldnge [m] | Gewicht [kg] |Gesamtidnge [m]|Gesamtgewicht [kg] Biegeform

>3
21 1 10 | 0762 5.815 3.588 5.815 3.588
2.2 1 10 | 1.038 6.091 3.758 6.091 3758 ﬁ
23 1 10 1.314 6.367 3.928 6.367 3.928 o
24 1 10 | 1590 6.643 4.099 6.643 4.099
2.5 1 10 | 1.866 6.919 4269 6.919 4269 N

"3
2.6 1 10 2142 7.195 4.439 7.195 4.439 x

>
2.7 1 10 | 2418 7.471 4609 7.471 4609 N

®
2.8 1 10 | 2694 7.746 4.780 7.746 4780 N
2.9 1 10 | 2970 8.022 4.950 8.022 4.950 N

=
210 1 10 3.246 8.298 5120 8.298 5.120 P

®
21 1 10 | 3522 8.574 5.290 8.574 5.290 "
Summe Gesamtgewicht: 48.830 kg




